
1) In 3rd slide it is considered that U1 is
subscheme of A^2 but it is not seems me
obvious also there was no explanation for it .
what i was thinking initially that it should be
subscheme of A^4 than defining intersection
and other stuffs will be more understandable.

one another think which i could understand is
that we can convert this affine scheme U1 to
quasi affine scheme (x1,x2;;x1) . But exactly
what you want to mean by saying U1 as
subscheme of A2   it is not clear to me.
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2) in slide 5 , "union of U1 and U2 joined along U1,2" can
you explain it. i am trying to understan by example
considering u1(Z2) , u2(Z3) and then join them but it not
clear to me how to do that.


























































































































Next two slides from Lecture 16 handwritten extra explanation.
































